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. GSH 6060SF-R02 ® 6.0 0.2 13.0 50 6 1 12,000
— 6060SF-R05 | @ 6.0 05 13.0 50 6 1 12,000
i 6060SF-R10 [ 6.0 1.0 13.0 50 6 1 12,000
o 6080SF-R02 @ 8.0 0.2 19.0 60 8 1 14,700
= 6080SF-R05 [ ] 8.0 0.5 19.0 60 8 1 14,700
Jy3-h GSH 6080SF-R10 @ 8.0 1.0 19.0 60 8 1 14,700
SEE 6100SF-R05 @ 10.0 05 22.0 70 10 1 19,600
a—k 6100SF-R10 ® 10.0 1.0 22.0 70 10 1 19,600
Jy3-k 6100SF-R15 @ 10.0 15 22.0 70 10 1 19,600
T 6100SF-R20 [ ) 10.0 2.0 22.0 70 10 1 19,600
J=E GSH 6120SF-R05 o 12.0 0.5 26.0 75 12 1 24,900
473=} 6120SF-R10 o 12.0 1.0 26.0 75 12 1 24,900
2R 6120SF-R15 @ 12.0 15 26.0 75 12 1 24,900
?— *': 6120SF-R20 @ 12.0 2.0 26.0 75 12 1 24,900
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LRI (~ 35HRC) (35 ~ 45HRC) (45 ~ 55HRC) (55 ~ 60HRC) (60 ~ 65HRC) (65 ~ 70HRC)
v DCmy) | DERRE | EDEE | CHnaE | 2DRE | el | 2D aE | Chmag | 2DaE | DmEg | E0RE | hhag | ZDEE
(min-1) |[(mm/min)| (min-1) |[(mm/min)| {min-9 |[{mm/min)| (min-')} |[(mMm/min)| (Min-1) |[(mMm/min)| {min-1) |{mm/min)
60 | 7,500 | 2,700 | 6,700 | 1,930 | 5,200 | 1,300 | 4,100 810 3,700 670 2,600 470
ﬁ 8.0 5,600 2,700 5,000 1,930 3,900 1,300 | 3,050 810 2,800 670 1,950 470
= 10.0 4,500 2,700 4,000 1,930 3,100 1,300 2,450 810 2,200 670 1,550 470
(=] 120 | 3750 | 2700 | 3,350 | 1,930 | 2600 | 1,300 | 2,050 810 1,850 670 1,300 470
1 HE (@ 1~1.5DC
P T [@e 0.1DC [ 0.05DC | 0.02DC
EHL 8 0.1DC | 0.05DC | ~ 0.06DC g+ 0.5mm
OfIET (BFENT Y=tV 7ERDIES)
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(~ 35HRC) (35 ~ 45HRC) (45 ~ 55HRC) (55 ~ BOHRC) (60 ~ B5HRC)
DG\ | BEREE | EDEE | EEkE | EDRE | BERf | X0RE | DREE | EORE | DR | ZDRE
(min-1) |[(mm/min)| (Min-1 |(mm/min)| (min-1) |[{(mm/min)| (min-1) |(mm/min)| (min-1) |[{mm/min)
60 | 16,000 | 5800 | 16,000 | 5800 | 16,000 | 5800 | 12,000 | 3,200 | 8,000 | 2,000
80 | 12,000 | 5800 | 12,000 | 5800 | 12,000 | 5800 | 9,000 | 3200 | 6,000 | 2000
10.0 9,600 = 5,800 9,600 = 5,800 9,600 | 5,800 7,200 | 3,200 | 4,800 | 2,000
_12.0 8,000 | 5800 | 8,000 5800 | 8000 | 5800 | 6,000 | 3200 | 4,000 | 2000
5E (8, 1 ~1.5DC
KA e 0.1DC | 0.05DC | 0.05DC [ 0.02DC | 0.01DC

130



